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Somesh, Tarun and Nikhil can complete a work separately in
45, 60 and 75 days. They started the work together but
Nikhil left after 5 days of start and Somesh left 2 days before
the completion of the work. In how many days will the work
be completed?

graer, ot 3 A& Faen 45, 60 3R 75 fear & a9 -
37137 Teh 1A T T Fehdl &1 36l Ueh HTY | 1A Y& foham
oifeheT A& ¥ 1a % 819 & 5 &=l & a1e ol fear 3 |Aer
= A &l F 2 1T Tgel Bl G| 7T Y & fohelel featt &

U1 8311 ? X
VA » (a) 25; days

0100 (b)502 days

(c) 35 g days

L ym——

(d) 40 ; days
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B would have taken 10 hours more than what A

would have taken to complete a task if each of
them worked alone. Working together they can
complete the task in 12 hours. How many hours
would B take to do 50% of the task?

B 3T Ueh h1 TR el & Tl A Y Tl & 10 & 318k
AT 91T, 3R 397 T Tcdch o 3Hhel-3chel HIH
ﬁmgﬁwlwmummgwammamzdﬁﬁ
TR & Fehl & | B I 38 &HTH T 50% il & oI vt
gC of3rar ?

[SSC CPO 2019]

_ M (b) 15
U 1 -00 (c) 20

(d) 10

(a) 30
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Working together A and B will complete a job in 7.5

days. If A works alone and completes half the job and
then B takes over and completes the remaining half of
the job, they will complete the task in 20 days. How
long will A alone take to do the job if B is more
efficient than A?

A 3R B Teh &1 7.5 f&eil & G Id & A 37ehel HIH Sl &
31T 3TET 1A G HIAT & T B 3T S9TE I I [
hdT § 3 AV 3T SR Y QU HLdr ¢ df 9 20 et A
I G T ol3T | A B, A T 38R FHAA & Y A Tl 31hed
PRI Ll H TohdedT JHT o34 ? 2)20

[SSC CGL MAINS 2017]

b)25
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A and B, working together, can complete a task in 18 days.
However, B works alone and leaves after completing one-third
of the task. Then, A takes over and completes the remaining
work by himself. As a result, the duo could complete the task
in 40 days. How many days would A alone have taken to do
the job. If B had worked faster than A?

A 31X B T Ty A AT T &l 18 Tt H AT Id
& T B 3hel 1A &cll & 3R Teh TAgTS I G leh 1A
OIS &l § 38 916 A T & 3ehel T I & 3 TR T8
1A 40 et & T Hd § IS B, A § FATET doil § & &
oIclT & @Y A 31shel fehcTal feit & X 1 ol FATCH HIM?

[SSC CGL MAINS 2018] a)24

01:00 o

d)30
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Anu can complete a piece of work in 22 days. Shama is

60% more efficient than Anu. How many days does
Shama alone take to complete the same piece of work?

37 TRdT SR &1 22 feaT A T FHT 81 AT, 3] & 60%
3% AU g fehel AAT, U F A el a1 A g
$HIN?

[SSC CHSL 2020]
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Vivek can complete a definite work in 14 days. Vishal is

75% more efficient than Vivek. In how many days, can
Vishal complete this work alone?

faade T AR 1A #Y 14 &A1 A QR Y Fehdl ¢l [Adh
@rmﬁ%&mm%a‘fﬁmwm%l faeme & &1 &1
mﬁmﬁrﬁa’rﬁwwwm%?

[SSC CPO 2019]

» (a) 8 days

01:00 ] by

(c) 9 days
(d) 10 days
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To do a certain work, the ratio of efficiency of A to that
of B is 3: 7. Working together, they can complete the
work in 10 days. They work together for 8 days. 60% of
the remaining work will be completed by A alone in:

Teh fATRET 1 e & T, A 3R B T S&TdT T 37741 3:
7 &1 Ueh HIY HTH el I, 10 &A1 7 H1H QT N Hehd &
d 8 Tl deh 2 Ueh TTY &1 Id & | AT 1Y HT 60% 3ehel A
¢anT fehctet Tt & T T e

[SSC CGL MAINS 2018]

a)6% days

01:00 e

» c)5 days
d)6 days
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The ratio of the efficiencies of A, B and C is 4: 5:3.
Working together, they can complete that work in 25
days. A and C together will complete 35% of that work
in:

A, B 3R C T G&TAT3HT T 376191 4 : 5 : 3 §| Ush A1 1A
sl 9T d el 3H 1A I 25 Al A W A Id 1 A 3R C
gl FAeRT 35% 1A & fohdel feail # g1 &Har?

[SSC CGL 2018]

(a) 12 days
(b) 10 days
0 1 :00 (c) 18 days

»» (d) 15 days
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To do a certain work, the ratio of the efficiencies of A, B
and Cis 7 : 5 : 6. Working together, they can complete
the same work in 35 days. B and C work together for 21

days. The remaining work will be completed by A alone
in:
foRgiY hTH T A o Tl A, B 31 C T &THAT T AT 7 : 5

: 6 gl Ush Y hI1H ld gx, a*?mamﬂrﬁ%%ﬂ‘rww
W%l B 3T C Y TRorhY 21 ot 1o fha| 9y & A EaRI

3ehel I el H fohcel Tt orerar?
[SSC CGL 2018] (a) 60 days
0 1 '00 »”» (b) 57 days

(c) 54 days
(d) 50 days
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The ratio of efficiencies of A, B and Cis 7 : 5 : 8.
Working together, they can complete a piece of work
in 42 days. B and C worked together for 21 days and
the remaining work is completed by A alone. The
whole work was completed in:

A, B 3R C T G&TAT3iT T 37U 7 : 5 : 8 &1 Teh A1y
fAeeRT 3 TRl 1A Y 42 et A R T Fhd &1 B 3R
C A 21 f&&l G T Ay A fhar 3K AT FT A o
3ehel G TehaT| ShTH T 1T §let H fehcll GHI o91?

[SSC CGL 2018] (a) 96 days

01 00 (b) 99 days

W(c) 102days
(d) 93 days
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A is as efficient as B and C together. Working together A
and B can complete a work in 36 days and C alone can
complete it in 60 days. A and C work together for
10days. B alone will complete the remaining work in:

A 3Tholl 3ciel a&T%%I?I?Tﬁ?Bﬁ\TC AGIREEERS KL
AR HTH A gu A 3R B el SR &I 36 f&alt H QU
P & 317 C 3rhar 38 1 Y 60 AT #F T Tohal %IA31°\T
C i TR 10 f&aii deo 1T A g1 B AV FHIA &l 3ol

fehcet foa & 91 ham?
[SSC CGL MAINS 2018] (a) 88 days
01'00 (b) 84 days

» (c) 110 days
(d) 90 days
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